

$$(1! + 2! + 3! + \dots + 201!)(1! + 2! + 3! + \dots + 201!)$$

$$(1 + 2 + 3 + \dots + 201)(1 + 2 + 3 + \dots + 201)$$

$$V \times 9 = 81 \quad \checkmark$$

(۲)

$$\sqrt[4]{(\varepsilon + \sqrt{v})^{-1}} \sqrt{1 + \sqrt{v}} = \sqrt[4]{\frac{1}{\varepsilon + \sqrt{v}}} \times \sqrt{(1 + \sqrt{v})^2} = \sqrt[4]{\frac{1 + 2\sqrt{v}}{\varepsilon + \sqrt{v}}} = \sqrt[4]{2} \quad \checkmark$$

$$\left(\frac{\sqrt{2} + \sqrt{5}}{\sqrt{10} + 1} \right) (\sqrt{5} - \sqrt{2} - \sqrt{4 + 5}) = \frac{1}{\sqrt{2}} \times \frac{\sqrt{5} - 1 - \sqrt{9}}{\sqrt{2}} = \frac{-2}{2} = -1 \quad \checkmark$$

$\downarrow \quad \downarrow$
 $\frac{\sqrt{2} + \sqrt{5}}{\sqrt{2}(\sqrt{5} + \sqrt{2})} \quad \frac{\sqrt{5} - 2 - \sqrt{9}}{\sqrt{2}}$

(۲)

$$\frac{\sqrt{11} + \sqrt{17}}{5 - \sqrt{5}} - 2 \left(\frac{\sqrt{17}}{\sqrt{9}} - 1 \right)^{-1} = \frac{(\sqrt{11} + \sqrt{17})(5 + \sqrt{5})}{25 - 5} - \frac{2(\sqrt{17} + 1)}{2} = \frac{5\sqrt{11} + 5\sqrt{17} + 5\sqrt{5} + \sqrt{85}}{20} - \sqrt{17} - 1$$

$$\frac{\sqrt{17} - 1}{\varepsilon + \sqrt{c}} + \frac{1}{2 - \sqrt{c}} = \frac{(\sqrt{17} - 1)(\varepsilon - \sqrt{c})}{14} + 2 + \sqrt{c} = \frac{12\sqrt{c} - 9 - \varepsilon + \sqrt{c}}{14} + 2 + \sqrt{c}$$

$$\frac{12(\sqrt{c} - 1)}{14} + 2 + \sqrt{c} = \frac{12}{7\sqrt{c} + 1} \quad \checkmark$$

(۲)

$$\frac{\sqrt{1 + \sqrt{c} + \sqrt{c} - 1}}{\sqrt{c} - \sqrt{2}} \quad A$$

$$-2 \Rightarrow A^2 = \frac{1 + \sqrt{c} + \sqrt{c} - 1 + 2\sqrt{c}}{\sqrt{c} - \sqrt{2}} = \frac{2(\sqrt{c} + \sqrt{2})}{\sqrt{c} - \sqrt{2}} = 2(\sqrt{c} + \sqrt{2})^2$$

$\hookrightarrow A = \sqrt{2}(\sqrt{c} + \sqrt{2})$

$$\sqrt[4]{\sqrt{2}} \times \sqrt[4]{162} \times \sqrt[4]{\varepsilon \sqrt{2}} = \sqrt[4]{2} \times \sqrt[4]{2 \times 3^4} \times \sqrt[4]{2} = 2 \times 3 \times 2 = 12 \quad \checkmark$$

(۲)

$$\frac{w^n(1 + c + c^2 + c^3 + c^4 + c^5)}{2^{n-2}(1 + 2 + 2^2 + 2^3 + 2^4 + 2^5)} = \frac{w^n(1 + 2 + 4 + 8 + 16 + 32)}{2^{n-2}(1 + 2 + 4 + 8 + 16 + 32)} = 1$$

$$\Rightarrow \frac{w^n}{2^{n-2} \times c^2} = 1 \Rightarrow \frac{w^{n-2}}{2^{n-2}} = 1 \Rightarrow n = 2 \quad \checkmark$$

(۲)

$$\begin{aligned} a &= \sqrt[4]{\sqrt{9}-2} \rightarrow a^4 = \sqrt{9}-2 \\ b &= \sqrt[4]{\sqrt{9}+2} \rightarrow b^4 = \sqrt{9}+2 \end{aligned} \Rightarrow a^2 b^2 = \sqrt{\sqrt{9}-2} \times \sqrt{\sqrt{9}+2} = \sqrt{A} = \sqrt{5}$$

$$\begin{aligned} \frac{(a^2+b^2-2ab)^r}{(a+b)^r} \frac{(a^2+b^2+2ab)^r}{(a+b)^r} &= (a^2-b^2)^r = (a^2+b^2-2ab)^r \\ &= (\sqrt{9-1} + \sqrt{9+1} - 8)^r = (2\sqrt{9-1})^r \\ &= 2^r \cdot 1 - 19\sqrt{2} = 2^r - 19\sqrt{2} = 19(1 - \sqrt{2}) \rightarrow \boxed{19} \end{aligned}$$

$$\begin{aligned} & \left(a + \frac{1}{a} + \sqrt{r}\right)^r \left(a + \frac{1}{a} - \sqrt{r}\right)^r = r \Rightarrow \left(\left(a + \frac{1}{a}\right)^r - r\right)^r = r \\ & \rightarrow \left(a^r + \frac{1}{a^r}\right)^r = r^t \rightarrow a^{\frac{r}{r}} + \frac{1}{a^{\frac{r}{r}}} + r = r^t \rightarrow \cancel{V - \epsilon\sqrt{r}} + \frac{1}{\cancel{V - \epsilon\sqrt{r}}} + r = r^t \\ & \cancel{V - \epsilon\sqrt{r}} + \frac{V + \epsilon\sqrt{r}}{\cancel{\epsilon\sqrt{r} - \epsilon\sqrt{r}}} + r = r^t \Rightarrow 19 = r^t \Rightarrow t = \epsilon \end{aligned}$$

$$A = \sqrt[5]{\epsilon^2 \sqrt{19} \left(\frac{1}{\sqrt{e}}\right)^{\frac{5}{2}}} = \sqrt[5]{\epsilon^2 \sqrt{19}} \times \sqrt[5]{\frac{1}{\sqrt{e}}} = \epsilon^{\frac{2}{5}} \times \epsilon^{-\frac{1}{10}} = \epsilon$$

$$(VA)^{-\frac{1}{2}} = \Lambda^{-\frac{1}{2}} = \frac{1}{\sqrt{\Lambda}} = \boxed{\frac{1}{\sqrt{\Lambda}}} \quad \checkmark$$

$$\sqrt[r]{a} = rV a^{\frac{1}{rV}} \rightarrow a^{\frac{1}{rV}} = rV a^{\frac{1}{rV}} \rightarrow 1 = rV a^r \rightarrow a^r = \frac{1}{rV} = \frac{1}{r\sqrt{r}} \checkmark$$

$$\left(\frac{1}{a} - r\right) = r\sqrt{r} - c = \underbrace{r(\sqrt{r} + 1)}$$

$$u(1-\sqrt{\mu}) = 4 - \mu\sqrt{\mu}$$

$$\rightarrow \left(\frac{1}{\alpha} - \mu\right) = \mu\sqrt{\mu} - \mu = \mu(\sqrt{\mu} - 1) \rightarrow \frac{\mu(\sqrt{\mu} - 1)}{\sqrt{\mu} + 1} \times \frac{\sqrt{\mu} - 1}{\sqrt{\mu} - 1} = \frac{\mu(1 + \mu - \mu\sqrt{\mu})}{\mu - 1} = \frac{\mu(1 - \mu\sqrt{\mu})}{\mu} =$$

$$\begin{aligned} \sqrt{x+a} - \sqrt{x-\varepsilon} &= \gamma \rightarrow x+a-x+\varepsilon = \gamma (\sqrt{x+a} + \sqrt{x-\varepsilon}) \\ \rightarrow a+\varepsilon &= \gamma (\sqrt{x+a} + \sqrt{x-\varepsilon}) \rightarrow \sqrt{x+a} + \sqrt{x-\varepsilon} = \frac{a+\varepsilon}{\gamma} \end{aligned}$$

$$\Rightarrow \sqrt{x+a} + \sqrt{x-\varepsilon} - r = \frac{a+\varepsilon}{r} - r = \underbrace{\frac{a}{r}}_{\text{y}}$$